EE322 Fall 2012 PS24 - Solutions

PS16+roblern 8-1a

%EE322 Fall 2012 PS24, problem 8-1a '
t=-15e-3:1e-6:15e-3; % initialize time | PM N M ]
vector

0.8 5
x=zeros(size(t)); % initialize ouput vector
for k=-30:30 g 08 |

x=x+sinc(k/10).*exp(j*200*pi*k*t); =

end € oal i
x=1/10%*x; % apply the scale factor
plOt(t,X) 02}k 4
xlabel('time")
ylabel('amplitude") 0 -ﬁw“ Iﬂﬁw«««-«vwwuv M e
title('PS16-Problem 8-1a")
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%EE322 Fall 2012 PS24, problem 8-1b
=-200e-3:1e-6:200e-3; % initialize time vector
x=zeros(size(t)); % initialize output vector
for k=-9:9
x=x+(sinc((k+2)/2)-sinc((k-2)/2)).*exp(j* 1 0*pi*k*t);

end
x=x*j/4; % apply the scale factor

plot(t,x)

grid

xlabel('time")
ylabel(‘amplitude")
title('PS16-Problem 8-1b")

PS16+Froblern 8-1b

amplituce
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x(&)= Scosleriot) h=10, =4
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